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[ Comnect | NOTES:

Review of Pythagoras Theorem

Remember the hypotenuse is the longest side of the right
angle triangle and directly across from the 90° angle.

=S NOTES:

Cartesian coordinate system

Points in the (x,y) plane are defined by their perpendicular
distance from the x-and y-axis relative to the orgin, O

The x-coordinate tells us the horizontal distance from the
y-axis to the point.

The y-coordinate tells us the vertical distance from the
x-axis to the point.
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[ Connect ] NOTES:
Cartesian coordinate system
y . Means that the we are 3 units
R e away from the y-axis
g e
)
z ..................... Means that the we are 4 units
}

away from the x-axis

S b b b b b

[ Comect | NOTES:

Distance Between two Points

y The horizontal distance between the

1 points is Xz - X1.
1 4 Y- =3
12 The vertical distance between the

I ERERENRE- SRR r points is yz - y1.
b S-1=Y4
4 To find the distance between A and B

we need to make a third point (C) to
create a right angle triangle.

Jan 30-4:17 PM

Jan 30-4:17 PM

[ comect | NOTES:
Distance Between two Points
Y Once we have a right angle triangle we
] 8 can use Pythagoras Theorem to find
the distance between AB
1A 2
L I B R R AR - T rq”
1 AT - St
) A
- 2c

Length of AC = L.‘-("’Z kﬁ!‘s:g’,
s-(zY

Length of BC = AR
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bomEE EXAMPLE 1 = YOU TRY!
Calculate the distance between the following pair of points Calculate the distance between the following pair of points
E(3.7)and F(9, 4) . A(-5,-2) and B(-7, -6) C€(3,-5) and D(6, -3) H(-5,-2) and I(-7, -6)
é)% -'—qH-'S_!'-Ls Dx = =5=C¢D M= 3-L =-3 NAx =-5-C-1N=2
y=H1: - -2 . ey —flN
Oy= -s-CN="2 | By= 20 =4
R T 1 Dy = ~2-¢O
Dz | +3% 3T q R T2
- D =3 42 D7 =2%vy
=36 +9
- ERAR AR
'()L—_‘-\s" bl:zl""‘l _L_OH—L‘ T -20
IRV AT —dviL T = ° _—r
D= (I & = 20 - V=i ® = E‘n
=iz DTS P23 D
[ Comect ] NOTES: [ Practice YOU TRY!

A General Formula Calculate the distance between the following pair of points

The distance between two general points A(x1,y1) and B(xz.y2) A(-3.5,4.7) and D(7.5, 1.3) H(2.5,-3.9) and I(-8.7, 0.9)

2 2 (520t (4a-19 5o (33-09
\/(x2_xl) +(J’2_J’1) lf " v \;( SR
v (_‘D-L r GG l U\.‘lJL r (-42)T

EXAMPLE:. What is the distance between the points A(5, -1) , B(-4,5) U s e
(ot + (o

Jlesud + 234

J s T —
§ .62 ((co? .51 8.
e -
(e = 10.p
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[ Practice | NOTES: [ Practice | NOTES:
The Mid-Point of a Line The Mid-Point of a Line
In general, the coordinates of the mid-point of the line segment . . tx
joining (x1,y1) and (x2,y2) are given by: . The x—f:oordma‘re (7‘ 2)
mid-point 2
X +tx, »ty, (5+‘L>
2 72 | ) z
R B B R 3.5
%*% | is the mean (average) of the x-coordinates 4 The y—c_:oordina‘re (M)
2 : mid-point 2
S0
[y, +), ) is the mean (average) of the y-coordinates =
2 M"ﬂ\poi:\*
A= (55) s, 3
= D !
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bomEE EXAMPLE 2 = YOU TRY!
Find the mid-point of each line segment Find the mid-point of each line segment
E(3,7) and F(9, 4) A(-5,-2) and B(-7, -6) €(3,-5) and D(6, -3) H(-5.-2) and I(-7, -6)

WS T4y SSHED -~ -0 3L - s+(-ﬂl SN -2 \—(—Q‘g
_Z_ )} z b ) z 2 I z L 1 2

(¢, 55 (¢, =) (45, ) (o)

[ Practice ] HOMEWORK!

Complete Worksheet:
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